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L Three coils are connected in star to a balanced three-phase, 3-wire,
440 V, 50 Hz supply and takes a line current of 10 A at 0.9 power, 10 ) M. Ny =2
factor lagging. 5
(a). Calculate the resistance and reactance of the coils assuming they
are series connected in each phase. ‘
(b). If the coils are delta connected to the same supply, calculate the
. line current and the real power. i
5 10 0 3 H | Y|3

lengths ;=25 cm, 1,=15 cm and I3 = 25 cm. The cross-sectional area
and relative permeability of A, B and C are 6cm?, 8cm’, 6cm? and
1:1=6000, 12=8000, ps= 6000 respectively. Cross-sectional area and
length of air gap are 6cm? and 2mm respectively. Find the value of
exciting current ‘I’ if number of turns (N) = 1000 turns, to setup a -
flux of ImWb.
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“IDetermine the voltage Vo’ in the given magnetically coupled |

“|For the following Boolean function

circuit, using mesh analysis technique.
JQ
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F(a,b,c,d) = Zm (2,3, 12,13,14,15).

(a). Write the truth table, Boolean expression and draw the
logic diagram using common gates. (5 marks)
(b). Simplify the given function using K map and write the
simplified Boolean expression. (5 marks)
(c). Draw the logic diagram for the simplified Boolean expression
using common gates. (5 marks)
(d). Draw the logic diagram for the simplified Boolean expression

=7

using only NAND gates. (5 marks) |
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